

NOTICE

Ref.No.:AJU/AD/ENGG/311/2021-22

It is for the information of all the Students of Dept. of Engineering - Semester VI Polytechnic & VI & VIII B.Tech that the **External Practical Examinations** has been scheduled from **10 May 2022** onwards as per the Time Table given below.

Ashwini Kumar

Date: 05.05.2022

Ashwini Kumar Asst Dean Department of Engineering ARKA JAIN University, Jharkhand

Copy for information & necessary action please:-

- 1. PS to The Vice-Chancellor
- 2. PS to the Director
- 3. PS to the Registrar
- 4. Controller of Examination for information
- 5. In charge Web services for Website
- 6. Notice Board
- 7. Guard File

8th Semester External Practical Examination of B.Tech.

Sl. No.	Semester	Batch	Branch	Roll No.
1	VIII	Batch 1	Mechanical Engineering	BTME/001-BTME/030
3	VIII	Batch2	Electrical & Electronics Engg.	BEEE/001-BEEE/027
4	VIII	Batch3	Computer Science & Engineering	BTCS/001-BTCS/021
5	VIII	Batch4	Civil Engineering	BTCL/001-BTCL/09

Subject	Written / Performance Exam Date/Batch &Time		Viva- Voce Exam Date/ Batch &Time(08:00AM-03:00PM)		
Project II (Major Project)	10.05.2022	Batch1(9:00 AM-10:00AM)	10.05.2022	Batch 1	
PROJECT II (Major Project)	10.05.2022	Batch2(9:00 AM-10:00AM)	10.05.2022	Batch 2	
Project-II (Major Project)	10.05.2022	Batch3(9:00 AM-10:00AM)	10.05.2022	Batch 3	
Project-II (Major Project)	10.05.2022	Batch4(9:00 AM-10:00AM)	10.05.2022	Batch 4	

6th Semester External Practical Examination of B.Tech

Sl. No.	Semester	Batch	Branch	Roll No.
1	VI	Batch-1	Mechanical	BTME/001 -BTME/25
2	VI	Batch-2	Mechanical	BTME/026 -BTME/51
3	VI	Batch-3	Electrical & Electronics Engineering	BTEE/001-BTEE/036
10	VI	Batch-4	Computer Science & Engineering	BTCS/001-BTCS/035
10	VI	Batch-5	Computer Science & Engineering	BTCS/036-BTCS/074
12	VI	Batch-6	Civil Engineering	BTCE/001-BTCE/026

ARKA JAIN University, Jharkhand School of Engineering and IT

Department of Engineering

Subject	Wri	itten / Performance Exam Date/Batch &Time	Viva-Vove Exam Date/ Batch &Time(09:30 AM-03:30 PM)	
FluidMachinery Lab	10.05.2022	Batch1(09:30 AM-11:30PM) Batch2(11:30 AM-01:30PM)	10.05.2022	Batch1 Batch2
Refrigeration & Air Conditioning Lab	10.05.2022	Batch2(09:30 AM-11:30PM) Batch1(11:30 AM-01:30PM)	10.05.2022	Batch1 Batch2
Control System Lab	10.05.2022	Batch3(09:30 AM-11:30PM)	10.05.2022	Batch3
Digital Signal Processing Lab	10.05.2022	Batch3(11:30 AM-01:30PM)	10.05.2022	Batch3
Compiler Design Lab	10.05.2022	Batch4(09:30 AM-11:30PM) Batch5(11:30 AM-01:30PM)	10.05.2022	Batch4 Batch5
Computer Networks Lab	10.05.2022	Batch5(09:30 AM-11:30PM) Batch4(11:30 AM-01:30PM)	10.05.2022	Batch4 Batch5

6^{th} Semester External Practical Examination of Polytechnic

Sl. No.	Semester	Batch	Branch	Roll No.
1	VI	Batch-1	Mechanical Engineering	DEME/001 -DEME/82
2	VI	Batch-2	Mechanical Engineering	DEME/083 -DEME/160
3	VI	Batch-3	Mechanical Engineering	DEME/161-DEME/247
4	VI	Batch-4	Electrical & Electronics Engineering	DEEE/001-DEEE/60
5	VI	Batch-5	Electrical & Electronics Engineering	DEEE/061-DEEE/126
6	VI	Batch-6	Computer Science & Engineering	DECSE/001-DECSE/040
6	VI	Batch-7	Computer Science & Engineering	DECSE/041-DECSE/080
7	VI	Batch-8	Civil Engineering	DECE/001-DECE/026

Subject	W	ritten / Performance Exam Date/ Batch &Time	Viva-Vove Exam Date/ Batch &Time(11:30 AM-04:45 PM)		
Design of Machine Elements Lab 10.05.2022		Batch1(11:30 AM-01:30PM) Batch3(01:30 PM-03:30PM)	10.05.2022	Batch1 Batch3	
Manufacturin g Technology –II Lab	10.05.2022	Batch2(11:30 AM-01:30PM) Batch2(01:30 PM-03:30PM)	10.05.2022	Batch2	
Project Work & Its Presentation in Seminar	10.05.2022	Batch3(11:30 AM-01:30PM) Batch1(01:30 PM-03:30PM)	10.05.2022	Batch1 Batch3	
Design of Machine Elements Lab	11.05.2022	Batch2(11:30 AM-01:30PM)	10.05.2022	Batch2	
Manufacturin g Technology –II Lab	11.05.2022	Batch3(11:30 AM-01:30PM) Batch1(01:30 PM-03:30PM)	10.05.2022	Batch1 Batch3	
Project Work & Its Presentation in Seminar	11.05.2022	Batch2(01:30 PM-03:30PM)	10.05.2022	Batch2	
Control Systems Lab	10.05.2022	Batch4(11:30 AM-01:30PM) Batch5(01:30 PM-03:30PM)	10.05.2022	Batch4 Batch5	
Testing & Maintenance of Electrical Machines Lab	10.05.2022	Batch5(11:30 AM-01:30PM) Batch4(01:30 PM-03:30PM)	10.05.2022	Batch4 Batch5	
Project Work & Its Presentation in Seminar	11.05.2022	Batch5(11:30 AM-01:30PM) Batch4(01:30 PM-03:30PM)	11.05.2022	Batch4 Batch5	
Internet & Web Technology Lab	10.05.2022	Batch6(11:30 AM-01:30PM) Batch7(01:30 PM-03:30PM)	10.05.2022	Batch6 Batch7	
Project Work & Its Presentation in seminar	10.05.2022	Batch7(11:30 AM-01:30PM) Batch6(01:30 PM-03:30PM)	10.05.2022	Batch7 Batch6	

Environment Engineering Lab	10.05.2022	Batch8(11:30 AM-01:30PM)	10.05.2022	Batch8
Civil Engineering Project work & Its Presentation in Seminar	10.05.2022	Batch8(01:30 PM-03:30PM)	10.05.2022	Batch8

Note: -1.All Practical Examination will be held in Concerned Lab Classes.

2. Students must be come with Practical Note Book.

Mr. Ashwini Kumar

Asst. Dean

Department of Engineering

Ashvini Kumar